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\Sgure above, the product of any two num- 1

t adjacent circles is equal to the product of ®) 5

mumbers that are opposite those circles. For
3.1 =4-.6. What is the value of j?

® -+

1

. The figure above shows the lengths of the sides
0 of an equiangular polygon. What is the area of
the polygon?

152

above, if PQ || RS, then x =
A 17

B) 8
<o 9

- (D) 14,2

(E) It cannot be determined from the information
given.

. A certain recipe makes enough batter for exactly
'8 circular pancakes that are each 10 inches in
diameter. How many circular pancakes, each
5 inches in diameter and of the same thickness
as the 10-inch pancakes, should the recipe make?

A) 4
(B) 16
(C) 24
(D) 32
(E) 40

STOP
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